


ExM A b
L 2 x4t 2. 2 x3 3. 4x2
4 %3 5. 3x3 6. 3 x2
T 5 X g 8. 5 X33 9. 2xZ
10. $X5x3 1. F x5 %3 12. 4 x5 x48
13. 23 X1g 14. 45 X3 15. 24 x5
16. 177 %5 17. & x22 18. 25 x22
19,13 x12x11 20. 75 X5 X 1+ 21. 34 x24 x13
22. 43 X5 23. 13 X8 24. 35 x 14
25. 28 %23 26. 3+ X 14 %2 27. 24 X 15 x4
Exrerane B ¢
1L 3+1 2. 2+% 3, 2 = i 4 %
5.6+2 6. 12+ 7. 16 +3 8. 27+3
9.23 + 1 10. 33 + 2 m.2§+3 122373
3. 1L+2L 1481 +13 1553 +6F 163333
17. 5%;1% 18. 102 =3+  19.6%2+2%  20.83+535
G%@(‘w:-e %
1. Simplify each of the following expressions:
@i 1§gb (ii) i—?’ (iii) ‘g;d (iv) %
(v) iXTZ;I (vi) 1%—56 (vii) %’;}’ (vi) 2;3;1;))
2. Simplify these expressions:
(i) ix% (ii) ’;—'gxfn_” (iii) a?bx%b (iv) _20%: 6a
v £-£ (vi) %—% (vii) 3"Tb2+"6—b (vii) 8%:(3_6‘;("



¢

Execase (D .

[ .
2 2x? Ox

2 2
4x“y . xy2 " 15x ;} ¢
Sx (207 (2y)

2 2 2 VI.
a’b b?c ca
1. 5 x 5 = D
c a b VII.

2
WX_6_X(_3i IV_

7. 2
Tox"y . (Bx)"
3t (4!

6x2y; xy ><_10)52)/

5x  (4x) (3y)’
(3x°)% x (5x)*

(') Gx’y)’
(Bxp)' - (dxp?y

L 2+3 2 i 3.5 +2+4
T A 5. 3-2 6 Hth -
SN 8 f A 0. 3 +3-4
10. 3 +4 1. 5 +2 12. 2+3
13. 2+ 4. 3 +3 15. 2 - L
6. 3-3 Bl i~ 18. 11
19. ++2+-L 20. 2+L+2 21, 5 +3 +1
2 fl+h 2. 3+b-1 2. 7+t
25. 24 + 14 26. 21 +11 27. 31 +23
28. 35 +12 29. 12 +23 30. 41+ 11
; 3L 27 +12 32. 31+ +22 33.32-21
" 43 —21 35. 25 —12 36. 52 —31
xertue. o
Se\t (o pmen Denommak:or < Sc,mp ’
X .y 2. 2% L 3y 3. 0x -y
7 A S L 2z 2
b A X S¢ 4 =39 6. Sa -~2a
>z 2 3 3 S

0. SXA2Z - At3 If - 2)<+7




Erercise & o

S’e}(: Coramen Dﬁncsmnakb(‘ 2 Suv\_p\,c%:} o

o

&3 2. Z _ 3 8 == o4 B
5 T M 0 z e

b 2 4 3 5 24 3 -
a-4 atz X4 AL A+l &

4

lo- b4x  x h. 2a _ 3a R a _ 7a
X3 e oo aT>s are ot S o~ |

brerune H $

Express each of the following as a single fraction:

1.

16.

19.

22.

26.

29.

X,y [ 2a b 2x—-1 1
3ty 237% 3 73 7%
x—3 2x+1 2x—3 x-—1 at+b a-b
7] + 3 5. 9 3 . 6. 5 + 3
3 4 3
Dok g, o= & g, 22 _3b
x Sx y z X y
3 2 5 3 3x 2x
x+2+.r—l- L x—2+x+3 12. x+2 x-1
3 | 3 2 3 2
+ 14, > — . -
x(x+2) " x(x—1) = x—1 N x+3 x*-9
5 2 2 x+2 x+1 5
+ : - 5= S
xX’—4 x+2 7 33 x*-9 = X—4 x+2
x+2 1 8 1 6 1
L Y W— s g +
2xP—x—-1 x-1 x*=2x—15 x-5 x*—2x—8 x+2
10 2 NS B S
2x°—3x -2 x-—2 T2 -x—1 2% +x-3
1 1 2 1
o S T—- 25. 5 =3 =
x'—=9 x*—x—-6 x"+4x+3 x"+5x+6
3 5 2 3
27.

K —2x—-8 x2—5x+4 6x°—5x—4 9% —16

Ifa=f5~‘+1 and bzg—l, find in terms of x the value of Sa — 4b — 1.

2 1 i 1
1-9¢  2(1+3x) 2(1-3x)  (1+3x)(1-3x)

Show that



Exertie 1L o
“-‘-"_"-—-———
L 26 g F o215 | X282 42035
x+3 ‘ x? +2x—3 . X 4x—2 .i2+5x+6
q 3x+3 2,
' 2x+2 VIIL. = +2 =0 I
o x=9 xtv. %
il - 1o ;2 x+1
x“+3x+2 |’_ Ak =7
) x—1 XV. = = =
. x“+2x-3 . x°—2x-35
X. — X +x—6 x*—1
, = XVI. LAY
. xZ -1 x'-x 2x—4
a : 2,2 143
1-x X1, 6a”b” —12a’b X +2x-3 x*+5x-6
2 3ab? ~6a%h Vi g ¢
y v 16 2x" -8 4x+8
' w2 +x—12 . _ x+3 X +5x+6
12435 x5y L, 2,3

[4]

Erercinie I %

Change each of the formulae in questions 1-30 to express the letter in square brackets in

terms of the others.

1. 2a-b=c [a] 2. 3p+tg=r [r] 3. ab-c=d [a]
4. utat=v (2] 5. 3a+2b=5c [b] 6. 3q—4p=2r Iq]
7. 2(a-b)y=c [a] 8. alb-c)=d 6] 9. x(y+z2)=w [y
b t
w,§a=b [a] 1. J+c=a (6] 12. s+g=r [
b +
1B 2+2=¢c 14. L20=, [q] 15. r=i(p-q) Ip]
2 3 2
- 3
16 a=22% (g 17. x+2=z [w] 18. p+2=5 [q]
3 y r
p—3r. p r 2a 3c _
. =5 20, s==+— 21. ——-—=d [b]
19. 13 =P+ = _=d
1 _1 2 ) 24 =é_2
22. 3(3a+b)=3¢ [dl 23. ' +2as=v [a] - a=y c [c]
25. —é—al‘2 =5 [a] 26. v=%fmlh | 27. s:ui+%at2 [a]
. 29. pri= 30, x-2=w [
28. r—;+t [s] . p+q—r lq] S



fo4

Lwercese W%

2 12
1. x-3+—=0 2 x—7+;7:0
2 3
4. x-2=1 5. 2x=5-2=
X X
4 25
7. )C—_:O 8 X = wa=
X
3 4 1 1
10, 1=—- 11. 6=—-
X x+1 X x+3
1 3 1 1
3. 4=-- 1q, Lo1_
x x-2 20 x x+1
3 2 5 (5]
16. — =1 17. +1=—
x—=1 x+1 2y — 1
2 3 1 | 1
19. — - == 20. _%_____:_
X x+1 2 X — x+2 2
Exerave [ 8
. 2 2L EI S
= Z Z 3
c e M
= L3 i
3 ] —_—
- u b
L
5 X 4+ 4 { _E; o 7
X % 3
e T
irn- L IR
e 2 b
91 R 18 K4 2R
S o
A+
3 [ e
p eI
2z a o, b 3 x4k
i X
G -l o
- A= L
o 5 ) <3

15
3. x+2—-——=9
X
3
6. 3x=—-38
x
1
9. x=—
X
12, 1= 2 +l
x+8 x
1
15, 3=—- :
X x-2
1
T AL S
X x+2 4
3 1
H."————zé
x—2 x 4
z . i
) “Z A —
I KS )
e
z o b
) 3
> Z
t+ 2z 8-
X *”j
—_ z
2
X372 ji'ij_
A-2 \ !
l&. X +4- l—&-
i+ X X
B
X X



